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Answer Key & Worked Solutions 

Rosyth Paper 

P6 Mathematics SA1 2018 
Paper 1 

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10 

3 2 3 3 2 4 1 4 3 4 

Q11 Q12 Q13 Q14 Q15 

3 1 2 2 1 

Q16) 40 Q17) 240 ° Q18) 60% Q19) 36 cm Q20) 

Q21) 2.03 kg Q22) $4.50 
Q23) 

1
2

Q24) 38 ° Q25) 6 m 

Q26) Q27) 8 Q28)  
(4 π + 16) cm 

Q29) 50 cm2 Q30)  
(9 π – 18) cm2 

Paper 2 
Q1. 100% - 30% = 70% 

70% - 30% = 40% 
40%  1.60 

100% 
1.60
40

 x 100 = $4 

Q2. Left egg tarts  18b – 2b = 16b 
Each child  16b ÷ 4 = 4b 

Q3. (i) Not possible to tell
(ii) False

Q4. 
3
4

 x 35 x 35 x π = 2886.3382 ≈ 2886.34 cm2 

Q5. Increase  140 – 40 = 100, 
100
40
 250%
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Worked Solutions 
Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 

6. Total mass of toys on Monday = 25 x 3 + 30 = 105g
Postal charges for Monday using regular box = $1.20

Total mass of toys on Tuesday = 5 x 35 = 165 g
Postal charges using upsized box = $3.00

Total postal charges if mailed separately = 1.20 + 3.00 = $4.20

Total mass if mailed together on Wednesday = 105 + 165 = 270g
Total postage charges when mailed together in upsized box = $5.00

Difference in costs = 5.00 – 4.20 = $0.80

Ans:  $0.80 

7. ∠BAD = 180 – 69 = 111°

∠BAC = 111 – 75 = 36°

∠ABC = 180 – 36 – 36 = 108°

Ans:  108° 
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8. Volume of Tank A = 15 x 12 x 18 = 3240 cm3

Base area of Tank A = 15 x 12 = 180 cm2

Base area of Tank B = 15 x 18 = 270 cm2

Let h = final height of both tanks

Volume of Tank A plus Volume of Tank B = 3240

180h + 270h = 3240

450h = 3240

h = 3240 ÷ 450 = 7.2 cm

Ans:  7.2 cm 

9. Shaded area = 6 x 6 ÷ 2 = 18 cm2

Unshaded area = 12 x 7 = 84 cm

Ratio of shaded region to unshade region  18 : 84  3 : 14

Ans:  3 : 14 
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10. Let 8u = number of strawberry jelly at first
3p = number of longan jelly at first

At the end,
Remainder strawberry jelly equals remainder longan jelly
3u = p

At first,
8u + 3p = 119
8u + 3 x 3u = 119
17u = 119
u = 119 ÷ 17 = 7

Number of strawberry jelly bought = 8u = 8 x 7 = 56 
Number of longan jelly bought = 3p = 3 x 3u = 3 x 3 x 7 = 63 

Ans:  56 strawberry 
63 longan 

11. 50% of Leesha’s stamps after John’s gift = 2160 – 1269 = 891

100% of Leesha’s stamps after John’s gift = 891 x 2 = 1782

70% of John’s stamp = 2160 – 1782 = 378

Ans:  378 stamps 
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12. ∠TXU = 180 – 103 = 77°

∠XUT = 90 ÷ 2 = 45°

∠XTU = 180 – 77 – 45 = 58°

∠TUW = (180 – 58) ÷ 2 = 61°

∠XUW = 61 – 45 = 16°

Ans:  16° 

13. a)
Let diameter of circle X = u
Diameter of circle Y = 2u
Diameter of circle Z = 4u

4u+ 2u + u = 7u = 84
u = 84 ÷ 7 = 12
Radius of circle X = 12 ÷ 2 = 6 cm

b) 
Breadth of large rectangle = 4u = 4 x 12 = 48 cm 
Breadth of rectangle that box circle Y = 2u = 2 x 12 = 24 cm 
Area of rectangle that box circle Y = 48 x 24 = 1152 cm2 
Radius of circle Y = u = 12 cm 
Area of circle Y = 3.14 x 12 x 12 = 452.16 cm 

Shaded area = 1152 – 452.16 = 699.84 cm2 

Ans:   699.84 cm2 
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14. Let total number of coins at first = 56u

Number of 50-cent coins at first = 
1
8

 of the coins = 7u 

Number of 20-cent coins at first = 49u 

Number of 20-cent coins left  = 
4
7
 x 49u = 28u 

Number of 50-cent coins spent = 78 ÷ 0.5 = 156 

Number of 50-cent coins left = 7u - 156 

Total number of coins left = 
4
7

 x 56u = 32u = 

Number of 20-cent coins left plus number of 50-cent coins left 

28u + 7u -156 = 32u 

3u = 156 

u = 156 ÷ 3 = 52

Number of 50-cent coins left = 7u – 156 = 7 x 52 – 156 = 208 

Ans:  208 

15. a)
Price of set lunch for first 4 adults = 3 x 48 = $144
Price of set lunch for 5 adults = 144 + 48 = $192
Price of set lunch for 3 children = 0.3 x 3 x 28 = $25.20
Total price of birthday celebration = 192 + 25.20 = $217.20

b) 
GST paid = 0.07 x 217.20 = $15.204 ≈ $15.20 

Ans:  $15.20 
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16. a)
Cost difference between 1 and 2 discounted dresses = 92 + 16 = $108
20% discounted price of yellow dress = 80% of price = $108
20% of price = 108 ÷ 4 = $27

b)
Money Xiao Li had at first = 108 + 92 = $200

Ans:   $200 

17. Let number of big boxes = 3u

Number of small boxes = 6u

After selling half of small boxes, number of small boxes =
1
2

 x 6u = 3u 

number of chocolates left in small boxes = 3u x 5 = 15u

Number of chocolates left in bigh boxes = 15u ÷ 3 = 5u

Total number of chocolates left = 15u + 5u = 320

20u = 320

u = 320 ÷ 20 = 16

Number of big and small boxes = 3u + 6u = 9u = 9 x 16 = 144 

Ans:  144 boxes 




